


Q.1 In a certain code language, ‘APRON’ is written as 

‘CNTMP’ and ‘EARTH’ is written as ‘GYTRJ’. How will 

‘HEAVY’ be written in that language?/ 

एक निनित कूट भाषा में, 'APRON' को 'CNTMP' और 'EARTH' 

को 'GYTRJ' निखा जाता है। उसी कूट भाषा में 'HEAVY' कैसे 

निखा जाएगा?

a) JCGUS

b) JGUTA

c) JGCTA

d) JCCTA



Q.2 Select the option that represents the letters that,

when placed from left to right in the given blanks,

will complete the letter series.

उस निकल्प का चयि कीनजए जो उि अक्षरों को दर्ााता है

नजसे जब नदए गए ररक्त स्थाि में बाएं से दाएं रखिे पर अक्षर

श्रंखिा पूर्ा हो जाती है।

D E _ W G _ E F _ G D E F U _ D _ F T G

a) F D G V E

b) F D V G E

c) D F F E V

d) D F V G F



Q.3 Select the correct combination of mathematical

signs to replace the * signs and to balance the given

equation.

* नचह्नों को बदििे और नदए गए समीकरर् को संतुनित करिे

के निए गनर्तीय नचह्नों के सही संयोजि का चयि कीनजए।

34 * 4 * 15 * 51 * 27 * 9 * 40

a) +, ×, −, =, ÷, +

b) −, +, =, ×, −, +

c) +, −, =, ×, ÷, −

d) ÷, −, ×, =, +, −



Q.4 If 28 February 2017 was Tuesday, then what

was the day of the week on 28 February

2019?/यनद 28 फरिरी 2017 को मंगििार था, तो 28

फरिरी 2019 को सप्ताह का कौि सा नदि था?

a) Thursday/गुरुिार

b) Saturday/र्नििार

c) Friday/रु्क्रिार

d) Monday/सोमिार



Q.5 How many triangles are there in the 

given figure?/ 

दी गई आकर नत में नकतिे निभुज हैं?

a) 24

b) 26

c) 28

d) 30



Q.6 Seven friends M, N, O, P, Q, R and S, each has a different 

age. Only two people are older than Q. P is older than Q but 

younger than O. M is older than R but younger than S. Only 

three people are younger than S. N is the youngest among all. 

The age of how many persons is between the ages of Q and R?/ 

सात नमि M, N, O, P, Q, R और S, प्रत्येक की अिग-अिग आयु है। 

केिि दो व्यनक्त Q से बडे हैं। P, Q से बडा है िेनकि O से छोटा है। M, R 

से बडा है िेनकि S से छोटा है। केिि तीि व्यनक्त S से छोटे हैं। N सभी में 

सबसे छोटा है। Q और R की आयु के बीच नकतिे व्यनक्तयों की आयु है?
a) 1

b) 4

c) 3

d) 2



Q.7 Select the correct mirror image of the given 

combination when the mirror is placed at MN as 

shown. 

नदए गए संयोजि के सही दपार् प्रनतनबंब का चयि करें जब 

दपार् को MN पर रखा गया है जैसा नक िीचे दर्ााया गया है।



Q.8 If 09 April 2023 is Friday.

What will be 30 April 2023?

09 अपै्रि 2023 को रु्क्रिार है। 30 अपै्रि 

2023 को कौि सा नदि होगा?

a) सोमिार/Monday

b) र्नििार/Saturday

c) मंगििार/Tuesday

d) रु्क्रिार/Friday



Q.9 Which letter-cluster will replace the

question mark (?) to complete the given series?

दी गई श्रंखिा को पूरा करिे के निए कौि सा अक्षर-

समूह प्रश्न नचह्न (?) को प्रनतस्थानपत करेगा?

XAPE, BIBU, ?, JYZA, NGLQ

a) YDVQ

b) PSFZ

c) FQNK

d) QNAR



Q.10 If M denotes ‘−’, N denotes ‘÷’, O denotes ‘×’ and P

denotes ‘+’, then what will come in place of ‘?’ in the

following equation?/ यनद M का अथा '-' है, N का अथा '÷' है, O

का अथा '×' है और P का अथा '+' है, तो, निम्िनिनखत समीकरर् में

'?' के स्थाि पर क्या आएगा?

(38 O 13) N 19 M 27 P (38 O 3) P 43 M 68 = ?
a) 82

b) 88

c) 92

d) 90



Q.11 Which of the following numbers will replace the

question mark (?) in the given series?/

निम्िनिनखत में से कौि सी सखं्या दी गई श्रंखिा में प्रश्न नचह्न (?)

को प्रनतस्थानपत करेगी?

8, 16, 13, ?, 47, 282

a) 58

b) 48

c) 52

d) 55



Q.12 Which of the following numbers will replace

the question mark (?) in the given series?

निम्िनिनखत में से कौि सी संख्या दी गई श्रंखिा में प्रश्न नचह्न

(?) को प्रनतस्थानपत करेगी?

199, 211, 196, ?, 193, 217

a) 205

b) 214

c) 207

d) 210



Q.13 Select the option that is related to the fifth number

in the same way as the second number is related to the

first number and the fourth number is related to the

third number.

उस निकल्प का चयि कीनजए जो पााँचिीं सखं्या से उसी प्रकार से

संबंनित है नजस प्रकार से दूसरी संख्या, पहिी संख्या से और चौथी

संख्या, तीसरी संख्या से संबंनित है।

19 : 80 :: 23 : 96 :: 16 : ? a) 76

b) 68

c) 70

d) 62



Q.14 Select the correct combination of

mathematical signs to replace the * signs and to

balance the given equation.

* नचह्नों को बदििे और नदए गए समीकरर् को संतुनित करिे

के निए गनर्तीय नचह्नों के सही संयोजि का चयि कीनजए।

67 * 88 * 8 * 14 * 3 * 19 * 17

a) -, ×, =, −, ÷, +

b) +, ÷, -, ×, -, =

c) -, ÷, ×, +, =, -

d) +, -, =, ×, -, ×



Q.15 Select the Venn diagram that best illustrates

the relationship between the following classes.

िेि आरेख का चयि करें जो निम्िनिनखत िगों के बीच के

संबंि को सिोत्तम रूप से दर्ााता है।

Fruit, Apple, Vegetable

फि, सेब, सब्जी



Q.16 Select the figure from among the given options 

that can replace the question mark (?) in the following 

series./नदए गए निकल्पों में से उस आकर नत का चयि करें जो 

निम्िनिनखत श्रंखिा में प्रश्निाचक नचन्ह (?) को प्रनतस्थानपत कर 

सकती है।



Q.17 A paper is folded and cut as shown. How will it 

appear when unfolded?/ िीचे दी गई आकर नतयों में कागज 

को मोडकर काटिे का क्रम नदया गया है। यह कागज खोििे पर 

कैसा नदखाई देगा?



Q. 18 The second number in the given number pairs is

obtained by performing certain mathematical operation(s) on

the first number. The same operation(s) are followed in all the

number pairs, EXCEPT one. Find that odd number pair.

नदए गए संख्या युग्मों में दूसरी संख्या पहिी संख्या पर कुछ गनर्तीय 

संनक्रयाएाँ करके प्राप्त की जाती है। एक को छोडकर सभी संख्या युग्मों में

समाि संनक्रयाओ ंका अिुसरर् नकया जाता है। निषम संख्या युग्म ज्ञात 

कीनजए।
a) 8 : 64

b)8 : 512

c) 6 : 216

d) 4 : 64



Q.19 A paper is folded and cut as shown below. 

How will it appear when unfolded?/ एक कागज़ 

को िीचे नदखाए गये क्रम के अिुसार मोडा और काटा 

जाता है। खोििे पर यह कैसे नदखाई देगा?



Q.20 If I denotes ‘÷’, J denotes ‘×’, K denotes ‘−’ and L

denotes ‘+’, then what will come in place of ‘?’ in the

following equation?

यनद I का अथा '÷' है, J का अथा '×' है, K का अथा '-' है और L का अथा

'+' है, तो निम्िनिनखत समीकरर् में '?' के स्थाि पर क्या आएगा?

37 L 25 K (14 J 2) L (2 J 13) K (62 I 31) = ?

a) 58

b) 56

c) 60

d) 62



Q.21 In a certain code language, 'DANCE' is written 

as 'ADNEC' and ‘DISCO’ is written as ‘IDSOC’. How 

will 'DREAM' be written in that language?/ एक निनित

कूट भाषा में, 'DANCE' को 'ADNEC' और 'DISCO' को

'IDSOC' निखा जाता है। उसी कूट भाषा में 'DREAM' कैसे 

निखा जाएगा?

a) DREMA

b) RAEMD

c) RDEAM

d) RDEMA



Q.22 Select the option that is related to the fifth term in the same

way as the second term is related to the first term and the fourth

term is related to the third term.

उस निकल्प का चयि करें जो पांचिें पद से उसी प्रकार संबंनित है, नजस प्रकार

दूसरा पद पहिे पद से और चौथा पद तीसरे पद से संबंनित है।

GENIUS : IUNGES :: HOLDER : DELHOR :: LIGHTS : ?

a) HTGLIS

b) TGLHSI

c) TGLSHI

d) HTGLSI



Q.23 निदेर् : नदए गए निकल्पों में से निषम को चुिें।/

DIRECTIONS: Choose the odd one out from

the given alternatives.

A सूया/Sun

B प्िूटो/Pluto

C बरहस् पनत/Jupiter

D मंगि/Mars



Q.24  How many triangles are there in this figure?.

इस आकर नत में नकतिे निभुज हैं?

a) 32 

b) 34 

c) 37 

d) 40



Q.25 Mohini is taller than Nita but not shorter than

Sarita. Sarita and Malini are of same height. Mohini

is shorter than Hema. Among them, who is the

second tallest ?

मोनहिी, िीता से िम्बी है परंतु सररता से छोटी िहीं है। सररता

तथा मानििी एक समाि िम्बाई की हैं। मोनहिी, हेमा से छोटी

है। इिमें से दूसरी सबसे िम्बी कौि है?
A. मोनहिी/Mohini

B. िीता/Nita

C. हेमा/Hema

D. ज्ञात िहीं नकया जा सकता



Q.26. Arrange the following activities in a logical and 

meaningful order. 

निम्िनिनखत गनतनिनियों को तानका क और साथाक क्रम में व्यिनस्थत करें।

1. Setting up alarm clock 

2. Solving question paper

3. Alarm Bell ringing 

4. Reach examination centre. 

5. Getting dressed and be ready 

6. Returning answer book

(A) 3, 1, 5, 4, 2, 6 

(B) 1, 3, 4, 5, 2, 6 

(C) 1, 3, 5, 4, 6, 2 

(D) 1, 3, 5, 4, 2, 6



Q.27  Statements: Some plants are vegetable./ कुछ पौिे ििस्पनत हैं।

All vegetables are vitamins./सभी सनब्जयााँ निटानमि हैं।

Conclusions: I. Some vitamins are plants./कुछ निटानमि पौिे हैं।

II. Some vitamins are vegetables. / कुछ निटानमि सनब्जयााँ हैं

III. No vitamin is plant. कोई निटानमि पौिा िहीं है

(A) Either conclusion I or III follows. 

(B) Only conclusions II and III follow. 

(C) Only conclusions I and II follow. 

(D) Only conclusions I and III follow. 



Q. 28 If CALLOSUM is coded as 31336134, then how 

will CEREMONY be coded as?

यनद CALLOSUM को 31336134 के रूप में कोनित नकया गया 

है, तो CEREMONY को नकस प्रकार कोनित नकया जाएगा?

(A) 25945757 

(B) 35854656 

(C) 35954547 

(D) 35954657



Q. 29 Select the option that is related to the third letter cluster 

in the same way as the second letter-cluster is related to the 

first letter-cluster. 

उस निकल्प का चयि करें जो तीसरे अक्षर समूह से उसी प्रकार संबंनित है 

जैसे दूसरा अक्षर-समूह पहिे अक्षर-समूह से संबंनित है।

DHMR : BJKT : : XCOE : ?

(A) VFMH 

(B) VENG

(C) UENG 

(D) VEMG



Q.30 Select the number-pair in which the two

numbers are related in the same way as are the two

numbers of the following number-pairs

उस संख्या-जोडी का चयि करें नजसमें दो संख्याएाँ उसी प्रकार

संबंनित हैं जैसे निम्िनिनखत संख्या-जोनडयों की दो संख्याएाँ हैं

11 : 120

(A) 17 : 289 

(B) 12 : 144 

(C) 2 : 3 

(D) 8 : 65
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